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ESTIMATING THE SUM 

Round off numbers to estimate their sum. 
This will give a rough idea of their exact sum. 

EXAMPLE 13 Find the estimated sum and the 
exact sum of 486 and 124. 

To estimate the sum, 
round off 2-digit numbers 
to the nearest 10, 3-digit 

numbers to the nearest 
100 and 4-digit numbers 

to the nearest 1000. 

4 8 6 ~ 5 0 0 4 8 6 
+ 1 2 4 the nearest 100 + 1 0 0 2 4 exect + 1 sum 

? es11meted sum~ 6 0 0 6 1 o p/ 

ADDING HORIZONTALLY 

EXAMPLE 14 Add 6342 and 2453 horizontally. 

Step 1 Add the ones. 
__ + 

6 3 4 2 2 4 5 3 

Step 3 Add the hundreds. 

5 

---- + ~ f 6 3 4 2 2 4 5 3 7 9 5 

ANS. 6342 + 2453 = 8795 

Exercise 2.3 --

A. Fill in the blanks. 

Step 2 Add the tens. 

---- + ~ 6 3 4 2 2 4 5 3 9 5 

Step 4 Add the thousands. ----+~ 6 3 4 2 2 4 5 3 8 7 9 5 

1. 7943 + 5961 = 5961 + 1!J!t 3 2. The successor of 9999 = f ODDO 
3. 7005 + 0 = ::ID1l5' 4. 41052 + -l- = 41053 
5. 3126 + 2137 + 8139 = 8139 + 2l.3J + 3126 = 3126 + 8/ 39+ 2137 

B. Add. Check the answer. 

l. 3 4 5 21 l ~ () 8 2. 6 7 0 51 8 7 53 + 4 3 5 6 3 4 5 2 1 +2048 
6705 1 Jgog + 4 3 5 6 R753 +2048 

225631 t3 ] 0 3 0 4. 28816 1 3. 
J ~ 8 J 5 +14467 2 2 5 6 31 + 1 1 0 5 9 
2 8 8 I 61 3703-0 +14467 J 9 8 7 5 

+ 1 1 0 5 9 



c. Estimate each sum. Also find the exact sum. 
. .. . . ~" ·l . ~ .. _..; . . 
· ·- • - 1){;{,. .. Roundcd off to the · i Estimated sum i i:xact sum ' ' . . . ' 

1. ' 56 + 72 nearest 10 \ 6o t 1o . / 3 0 , / 2- 8 . 
:·• 0 o ♦ 0 0 • o ♦ 00 °' o O O 0 0 o O O O o O o O O • 0 0 0:. 0 0 o O O t O O O o o O o o O •O • Oo o o I oO o ♦ : o O O O O O o O o ♦ o ♦ O 00 o Oo O ••• o O O 00 :, .. ,, 0 0 oo oO oO 000 00 ♦♦ o t o ♦ OOO o ♦ o O o 00 o ♦♦: o Io O O O o O o ♦ o O o o o O ,o • 0 o O O O o• o O O: 

2
• \ 315+425 \nearestlOO \JoOt 400 \ 100 \ 740 . 

: .. ....... .......... ... ' ... ..... : ...... ..... ..... ...... ...... : ..... ..... .. ···· ·· ···· ····· : ......... ......... ...... ... ...... .. . : ..... ....... .... ............ . : . . . . 3· \ 3892 + 5380 \nearest 1000 \4ooot-SDD~ 90000 \ q2 72- \ . . . . . : .......... .. ... ... ........... .. ... ......... ' .......... ..... .. : .................... ..... '. : ... ...... ...... .. ....... ....... ..... : ....... ..... ...... ..... ...... : 

o. Add horizontally to find the sum. 

1. 248 + 211 = 4 5'9 
4. 2251 + 1480 = 373 / 

7. 3415 + 1986 = st.,o/ 

2. 375 + 144 = 5/9 
s. 3805 + 4792 = is91 
8. 4003 + 5425 = 942.8 

3. 157 + 346 = 503 
6. 5218 + 7117 = /2335 
9. 6256 + 2227 = ~ 4i2:, 



? 
• 

0 
t 'R CJ 

= 2. 

557 0 



{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Form","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Book","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



